CS3/586 Introduction to Databases – Fall 2009
Homework 3 –ANSWERS

1. [15] Give the SQL that will retrieve the candid of all candidates that have nonzero donations to committees that are associated with them, in the order of the total amount of donations to the committee.  A typical row will look like ( H50D00045, 12435), meaning that $12,435 was donated to all committees associated with the candidate with candid H50D00045. Report the number of rows retrieved and compare it to the total number of candidates, which is 3832.  

SELECT candid, SUM(indiv.amount)

FROM cand, comm, indiv

WHERE cand.candid = comm.assoccand AND comm.commid = indiv.commid

GROUP BY candid

HAVING SUM(indiv.amount) > 0;

There are 1378 such candidates, about 1/3 of the total.

2. [15] One third of the committees in our database represent interest groups, denoted by the attribute intgrp in the table comm.  The one-character code for the interest group attribute has the following meaning:

C
CORPORATION

L
LABOR ORGANIZATION

M
MEMBERSHIP ORGANIZATION

T
TRADE ASSOCIATION

V
COOPERATIVE

W
CORPORATION WITHOUT CAPITAL STOCK

Give the SQL that lists the codes for each interest group and the percentage of committees with each code.  The percentages in your answer should add up to 100%, including the 2/3 that have no code.  You can use the fact that there are 10286. committees in the table (the decimal point will convert the type to real).  Be sure that the titles of the columns in your table are meaningful.

ANSWER:     

 SELECT round(COUNT(*)/10286.,2) AS percent, intgrp FROM comm GROUP BY intgrp ;


Percent
intgrp 

0.17

C

0.00

V 

0.10

T 

0.01

W 

0.67

0.03

L 

0.02

M

3. [20] This question involves the pas table, which describes committee donations to candidates.  Some people say that certain kinds of interest groups favor certain parties.   This question looks into the truth of that assertion. 

For each committee interest group and each candidate’s party, write the SQL that gives the total amount of donations by each interest group to each candidate party.  Do not list donations from the NULL interest group, which is stored as the empty character string  '' .  Order your answer by interest group, amount of donation (from highest to lowest), then party.  Also give the first two rows of the answer.  Be sure to identify different cases for the same party, i.e. REP and Rep should be counted as the same party in your answer.  Hints:  For example, one row of your answer might indicate that all interest groups of type W gave $100,000 to candidates affiliated with the REP party.  This query requires at least one join and may require grouping by more than one attribute.  The first three rows of the answer should be:

Intgrp
total
party 

C

54549591
REP 

C

50435410
DEM

C

503489
DFL

SELECT intgrp, SUM(amount) AS total, upper(cand.party) as party

FROM cand, comm, pas 

WHERE cand.candid = pas.candid AND pas.commid = comm.commid

AND intgrp <> ''

GROUP BY intgrp, upper(cand.party) 

ORDER BY intgrp, total DESC, upper(cand.party);


4. [20]Choose your favorite zip code  (perhaps where you or your partner or friend live, or 97223, where I live).  Choose your favorite month in the range January-June.  Then give two queries that retrieve the names of all committees that received at least one nonnegative donation from an individual in that month from someone living in that zip code.  The first query is a SQL query that does not contain a join (hint: subquery) and the second is in relational algebra (it can contain a join).

ANSWER (note that your zip code and month may differ):

SELECT commname FROM comm

WHERE EXISTS

( SELECT * FROM indiv

 WHERE indiv.zip = '97223' AND indiv.month = 3 AND amount >= 0

AND comm.commid = indiv.commid);

RA: (commname((indiv.zip=’97223’⋀amount>=0⋀indiv.month=3(indiv⋈commid=commid comm))
5. [15] It would seem natural that a committee and its associated candidate should be from the same party, right? You’d be surprised.

Show the SQL that will list all the names of committees, and the parties of the committees, and the names of candidates, and the parties of those candidates, in cases where the party of the candidate and the party of the committee are not equal.  Do not include cases where either party is null.  If parties are equal except for the case (upper vs lower) of the spelling of the party name (like Rep vs REP) then consider them equal.  (The output has several cases where the committee’s party is a sequence of blanks.  You can get rid of these using a string manipulation function, but it’s not required.)

SELECT  commname, upper(comm.party) as commparty, candname, upper(cand.party) as candparty

FROM comm JOIN cand ON ( comm.assoccand = cand.candid)

WHERE comm.party IS NOT NULL AND cand.party IS NOT NULL AND upper(cand.party) <> upper(comm.party);

6. [10] Flatten this query, that is, write a query which is equivalent and does not contain a subquery.

SELECT treasname

FROM commor MO

WHERE MO.party = ‘REP’ AND MO.commid IN

   ( SELECT P.commid

     FROM pasor P

     WHERE P.amount > 250);

ANSWER: SELECT DISTINCT treasname

FROM commor MO JOIN pasor P USING (commid)

WHERE MO.party = ‘REP’ AND P.amount > 250;

7. [15 extra credit]     Determine the most common amount (not total amount) donated by individuals in Oregon.  Your answer should be 250, meaning that more people donated $250.00 than any other amount.  

SELECT bar.amount

FROM (

   SELECT COUNT(*) AS cnt, amount

   FROM indivor

   GROUP BY amount) AS bar

WHERE bar.cnt =

   (SELECT MAX(cnt)

   FROM  (SELECT COUNT(*) AS cnt, amount

   FROM indivor

   GROUP BY amount ) AS foo)

